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Class 8th

Time: 90 Mins. Max. Marks: 120

VERY IMPORTANT :

A. The question paper consists of  1 parts (Mathematics & Science). Please fill the OMR answer Sheet

accordingly and carefully.

iz'u i= ds ,d Hkkx (Mathematics & Science) gSA OMR mRrj iqfLrdk dks Øekuqlkj o /;kuiwoZd HkjsaA
B. Please ensure that the Question Paper you have received contains All the questions in each Section and

Pages. If you found some mistake like missing questions or pages then contact immediately to the Invigilator.

lqfuf'pr djsa fd iz'u i= esa izR;sd [k.M o ist esa lHkh iz'u gSA ;fn vkidks iz'u i= esa dksbZ =qfV tSls
dksbZ iz'u ;k ist ugha feyrk gS] rks fujh{kd ls lEidZ djsaA

INSTRUCTIONS (funsZ'k)
1. All questions are Single correct type questions. Each of these questions has four choices (A), (B), (C)

and (D) out of which ONLY ONE is correct.

lHkh iz'u ,dy lgh fodYi izdkj ds iz'u gSA izR;sd iz'u ds pkj fodYi (A), (B), (C) rFkk (D) fn;s x;s

gS ftuesa ls dsoy ,d lgh gSA

For each question, you will be awarded 4 marks if you have darkened only the bubble corresponding to

the correct answer and zero mark if no bubble are darkened. In all other cases, no negative mark will be

awarded.

izR;sd lgh mrj ds fy, vkidks 4 uEcj feysxs vxj vkius lgh mrj ls lacaf/kr cqycqys dks dkyk fd;k

gS vkSj 'kwU; uEcj feysxs ;fn dksbZ cqycqyk dkyk ugha fd;k gS rFkk xyr mRrj nsUks ij dksbZ _.kkRed

vad ugha gSA

2. Indicate the correct answer for each question by filling appropriate bubble in your answer sheet.

vkids izR;sd lgh mrj ds fy, mi;qDr cqycqys dks mrj iqfLrdk esa ml iz'u la[;k ds lkeus dkys djsaA

3. Use of Calculator, Log Table, Slide Rule and Mobile is not allowed.

dksjs dkxt] fDyi cksMZ] ykWx rkfydk] LykbM :y] dSydqysVj] dSejk] lsyQksu] istj vkSj fdlh izdkj

ds bysDVªkWfud midj.k ijh{kk d{k esa vuqefr ugha gSA

USEFUL DATA

Atomic weights: Al = 27, Mg = 24, Cu = 63.5, Mn = 55, Cl = 35.5, O = 16, H = 1, P =  31, Ag = 108, N = 14,

Li = 7, I = 127, Cr = 52, K=39, S = 32, Na = 23, C = 12, Br = 80, Fe = 56,  Ca = 40,  Zn = 65.5, Ti = 48,

Ba = 137, U = 238, Co= 59, B =11, F = 19, He = 4, Ne = 20, Ar = 40 , Mo = 96, Ni = 58.5, Sr = 87.5,

Hg = 200.5 , Tl = 204, Pb = 207 [Take : ln 2 = 0.69,  ln 3 = 1.09, e = 1.6 × 10–19, m
e
= 9.1 × 10–31 kg ]

Take  g = 10 m/s2 unless otherwise stated
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SECTION-I
[SINGLE CORRECT CHOICE TYPE]

Q.1 to Q.30 has four choices (A), (B), (C), (D) out of which ONLY ONE is correct.

Space for rough work

1. If the sum and the product of two numbers are 25 and 144 respectively, then the difference of the numbers

must be –

;fn nks  la[;kvksa dk  ;ksx rFkk  xq.ku dze'k% 25 rFkk 144 gS  rks  mu la[;kvksa ds  e/; vUrj  gksxk  &

(A) 3 (B) 5 (C) 7 (D) 11

2. The given figure ABCD is a trapezium in which A = (x + 25)°, B = y°, C = 95° and D = (2x + 5)° :

fn;s x;s fp=k esa ABCD leYkEc prqHkqZt gS ftuesa A = (x + 25)°, B = y°, C = 95° rFkk D = (2x + 5)° gS rks

D C

A B

(x + 25)°

95°

y°

(2
x +

 5
)°

(A) x = 40°, y = 90° (B) x = 45°, y = 85°

(C) x = 50°, y = 85° (D) x = 92°, y = 60°

3. In a single throw of a dice, the probability of getting a multiple of 3 is :

,d  ikls  dks  ,d  ckj Qsadk tkrk  gS  rks  3 ds  xq.kUk  ds  vkus  dh  izkf;drk  gksxh  &

(A) 1/2 (B) 1/3 (C) 1/6 (D) 2/3

4. What will be the unit digit of the squares of the following number 81

la[;k 81 ds oxZ dk bdkbZ vad gksxk &

(A) 4 (B) 9 (C) 1 (D) 5



3Matrix JEE Academy : Opposite Reliance Petrol Pump, Piprali Road, Sikar Ph. 01572-241911, Mob. 97836-21999, 97836-31999

8THMatrix
JEE Academy

MATHS & SCI.

Space for rough work

5. Find the least number which must be added to the number 525 so as to get a perfect square

la[;k 525 esa ,d ,slk U;wUkre la[;k crkb;s tks fd 525 esa tksMUks ij ,d iw.kZ oxZ cUk tk;s

(A) 4 (B) 1 (C) 3 (D) 0

6. Find the cube root of 10648

10648 dk ?kUkewYk Kkr dhft;s &

(A) 22 (B) 21 (C) 24 (D) 18

7. In the given figure ABCD the angles x and y are :

fn;s x;s fp=k ABCD esa dks.k x rFkk y gksxsa &

D C

A B

y
x

60°
30°

(A) 60°, 30° (B) 30°, 60° (C) 45°, 45° (D) 90°, 90°
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8. What will be the unit digit of the square of the following number 272

la[;k 272 ds oxZ eas bdkbZ vad gksxk &

(A) 4 (B) 2 (C) 3 (D) 5

9. Find the cube root of 15625

15625 dk ?kUkewYk Kkr dhft;s &

(A) 15 (B) 17 (C) 25 (D) 30

10. Choose the rational number which does not lie between rational numbers – 
2

5
 and – 

1

5
:

ifjes; la[;kvksa – 
2

5
 rFkk – 

1

5
 ds e/; fuEUk esa ls dkSUklh ifjes; la[;k fo|ekUk ugha gS &

(A) – 
1

4
(B) – 

3

20
(C) – 

3

10
(D) – 

7

20

11. The solution of 
2x 1 3

3 x 1 2





 is –

2x 1 3

3 x 1 2





 dk  gYk  gS  &

(A) x = 1 (B) x = – 1 (C) x = 2 (D) x = – 3

12. A number is randomly chosen from the set {1, 2, 3,....10}. The probability that the number is even is :

leqPPk;  {1, 2, 3,....10} esa  ls  ,d la[;k  ;kn`PN;k  pqUkh  tkrh  gS  rks  mlds  le  gksUks  dh  izkf;drk  gksxh  &

(A) 1/3 (B) 1/2 (C) 2/3 (D) 1/4

13. Ramu's father is thrice old as Ramu. If father's age is 45 years then Ramu's age is  –

jkeq ds  firk dh vk;q jkeq dh vk;q ls rhUk xqUkk gSA ;fn mlds  firk dh vk;q 45 o"kZ gS rks jkeq dh vk;q gksxh

(A) 45 yrs (B) 30 yrs (C) 15 yrs (D) 10 yrs
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14. Which of the following fractions is less than 
7

8
 and greater than 

1

3
?

fuEUk esa ls dkSUklh fHkUUk la[;k 
7

8
 ls NksVh rFkk 

1

3
 ls cM+h gS &

(A) 
1

4
(B) 

23

24
(C) 

11

12
(D) 

17

24

15. Which of the following number are rational ?

fuEUk esa ls dkSUklh la[;k ifjes; gS &

(A)  19 (B)  16 (C)  17 (D)  18

16. If 
3

4
x = – 7 + x, then the value of x is –

;fn 
3

4
x = – 7 + x gS  rks  x dk  ekUk  gksxk  &

(A) 4 (B) 
7

–
3

(C) – 28 (D) 28

17. If 2805  2.55 = 1100, then 280.5  25.5 =

;fn 2805  2.55 = 1100 gS rks 280.5  25.5 =

(A) 1.1 (B) 1.01 (C) 0.11 (D) 11

18. The given figure PQRS is a parallelogram the values of SQP and QSP are :

fn;s x;s fp=k esa PQRS ,d lekUrj prqHkqZt gS rks SQP rFkk QSP dk ekUk gksxk &

S R

P Q

75°
60°

(A) 45°, 60° (B) 60°, 45°

(C) 10°, 35° (D) 35°, 70°
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19. What will be the unit digit of the squares of the following number 799

la[;k 799 ds oxZ dk bdkbZ vad gksxk &

(A) 0 (B) 3 (C) 2 (D) 1

20. 4 – 
5

1
1

1
3

1
2

4





 =

(A) 
40

31
(B) 

4

9
(C) 

1

8
(D) 

31

40

21. If  1.21 1.1,  then  .000121 is equal to :

;fn  1.21 1.1,  gS rks  .000121 dk ekUk gksxk &

(A) 0.0011 (B) 0.011 (C) 0.11 (D) 11.0

22. Find the least number which must be added to the number 1750 so as to get a perfect square

,d ,slh U;wUkre la[;k crkb;s ftldks 1750 esa tksMUks ij ,d iw.kZ oxZ cUk tk;s

(A) 9 (B) 11 (C) 12 (D) 14

23. Which of the following is denser than many metals?

(A) Bromine (B) Chlorine (C) Sulphur (D) Iodine

fUkEUk esa ls dkSUk] dbZ /kkrqvksa dh rqYkUkk esa vf/kd l?kUk gS &

(A) czksehUk (B) DYkksjhUk (C) lYQj (D) vk;ksMhUk
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24. Which of the following gases remains liquid at – 88°C?

(A) Ethane and methane (B) Ethane and propane

(C) Propane and butane (D) Butane and ethane

fuEUk esa ls dkSUklh xSls – 88°C rkiekUk ij rjYk jgrh gS &

(A) ,FksUk rFkk esFksUk (B) ,FksUk rFkk izksisUk

(C) izksisUk rFkk C;wVsUk (D) C;wVsUk rFkk ,FksUk

25. Which one is a house hold variety of coal?

(A) Peat (B) Bituminous (C) Lignite (D) Anthracite

fuEUk esa ls dkSUk dks;Yks dh ?kjsYkq fdLe gS &

(A) ihV (B) fcVqfeUkl (C) fYkXUkkbV (D) ,sUFkslkbV

26. Which of the following metals occur in their pure state?

(A) Copper (B) Iron (C) Zinc (D) Gold

fuEUk esa ls dkSUklh /kkrq viUkh 'kq} voLFkk esa jgrh gS &

(A) dkWij ¼rkack½ (B) vk;ju ¼Ykksgk½ (C) tLrk (D) lksUkk

27. Which non-metal is a good conductor of electricity?

(A) Bromine (B) Iodine (C) Graphite (D) Chlorine

fuEUk esa ls dkSUklh v/kkrq fo|qr dh vPNk lqpkYkd gS &

(A) czksehUk (B) vk;ksMhUk (C) xzsQkbV (D) DYkksjhUk
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28. Greenhouse effect is causes due to excessive release of :

(A) Methane (B) Carbon dioxide

(C) Both (A) & (B) (D) None of these

gfjr x`g izHkko fuEUk esa ls fdlds vf/kd eqDr gksUks ls gksrk gS &

(A) esFksUk (B) dkcZUkMkbvkWDlkbM  (CO
2
)

(C) nksUkksa (A) rFkk (B) (D) buesa ls dksbZ ugha

29. Natural gas mainly contains :

(A) Propane (B) Butane (C) Methane (D) Ethane

izkd`frd xSl esa eq[; :i ls ik;k tkrk gS&

(A) izksisUk (B) C;wVsUk (C) esFksUk (D) ,sFksUk

30. Which one is an ideal fuel?

(A) Natural gas (B) Coal (C) Kerosene (D) Petrol

fuEUk esa ls dkSUklk ,d vkn'kZ bZa/kUk gS &

(A) izkd`frd xSl (B) dks;Ykk (C) dsjksflUk (D) isVªksYk


